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EXAMPLE 1 OF CALCULATING THE TRANSIENT BY OPERATOR
METHOD

Incoming data




' ] substitution scheme

System of equations in operator form

B [ -12-13=0

l
(IRl +1ll-pL+12R2+ 2R3+ [2-— =10

| E P
3R4-12R2-12R3- 12— = =

pC p




Solution of the system of equations

(11-p + 50000)

[1(p)= 12500 - 2
122000-p + 68750000 + p~)-p

-25 (12000 + p)
[2(p)= 7]
122000-p + 68750000 + p

2|

2|

25 (34000-p + 100000000 + p
13(p)=—7 )

4 2000 + 68750000 + p

P



Given

000 + 63750000 + =

k) ot 4 -3 -1gm10°

l
)

|
0 ) )

(1) = ) tnvlaglace, p AI-H-exp( 11000-)-coshi, J00-209 4 +—-exp( 11000-4)-209 " -sin? 500209 4

1) ot 4 9191 - 9.091.axp[,-1.1m-m".t]-cosh(mn.-t) ' 5.190-exp(,-1.1uu-1n4¢).sinmm.¢)
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0.001

0.0012

0.0014

0.0016




EXAMPLE 2 OF CALCULATING THE TRANSIENT BY OPERATOR
METHOD

substitution scheme




Given
I1-1I2-1I3=10
56) |

[ 2.-r2 - 13- —
p-C

Find(I1.12.13) —

I1.(R1+ p-L) + 2.R2 =
E
D

E
P

3000000000

p3 + EEJIEJIEJI!]-I:-2 + 300000000-p

EG-pz + 600000-p + 3000000000

p3 + EGGID[J-pz + 300000000-p
30-p + 600000

p2 + 30000-p - 300000000




Given

.. ,
p3 +30000-p~ + 300000000-p = 0
Find(p) float,4 — (-15000.0 + 8660.0i —15000.0 — 8660.0i

3000000000

_. .
p> +30000-p% + 300000000

2
~ 30-p™ + 600000-p + 3000000000

-' 2
p3 + 30000-p~ + 300000000-p

invlaplace,p 5 5

o - 15000.0-t . - 15000.0-t . .
1I(t) :=Il(p) foat. 3 — -10.0-e c08(8660.0-t) + -17.3-¢ -81(8660.0-t) + 10.0
oat, 3

invlaplace,p 5

s - 15000.0-t .
12(t) := 12(p) _ — 20.0-e c0s(8660.0-1) + 10.0
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